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For each question from 1 to 8, four options are given. One of them is the correct 
answer. Make your choice (1, 2, 3 or 4). Write your answer in the bracket.

1. Adam planted a green bean and observed it for two weeks. He recorded his
observations in a table below.

da 0 week 1 week2 

Based on the observation above, which of the following characteristics of living 
thing$ did he observe? 

(1) Living things grow.

(2) Living things reproduce.

(3) Living things respond to changes.

(4) Living things need air, food, and water to survive.

2. Which of the following statements is true for all plants?

(1) All plants are green.

(2) All plants bear fruits.

(3) All plants make their own food.

(4) All plants reproduce by spores.
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Q1) 1 

Q2) 3 

Q3) 3 

Q4) 2 

Q5) 1 

Q6) 4 

Q7) 2 

Q8) 2 

Q9) a) To allow air to enter for the rat to breathe.
b) The rats showed that living things respond to changes.
c) The rat died in container A. Living things need water to survive

and as their was no water in container A the rat in container A
died.

Q10) a) The tree above belongs to the flowering plant group.
b) If the tree above is a flowering plant, the tree would have flowers

that will turn into fruits and as the free above has fruits, the tree is
a flowering plant.

c) The tree reproduces by seeds while a fern reproduces by spores.

Q11) a)i)Reptile
ii)They reproduce by laying eggs. /They breathe through lungs.

b)i)Animal E breathes through gills while animal F does not breathe
through gills.

ii)This animal would most likely be animal D.

Q12) a) They grey living thing X is bread mould.
b) Bread S would have living thing X.
c) Bread S has water but T done not have water. Mould needs water

to grow.
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